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)
, Determine if x + 3 is a factor of each polynomial:

a)x*+x*—x+6 b) 2x3 + 9x% + 10x + 3 c) x3 +27
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2) Find possible factors of the following polynomials using integral zero theorem. Then, factor the polynomial.

a)x3+3x2—-6x—8 b) x3 + 4x? — 15x — 18 c) x3 —3x% — 10x + 24
3 Z
Rusible Sacrars: 11,2224 % Possible sacsorss £1,£2,13,£€,%9,313 | Possible.factors ; RN RIRTS” RIp I TN
feNz0 ;R kKo fado )20 5 & x4l 1S A factor / £(2)- © d & x-7) is a fadery

_lIIB- Iy 4 -85 -4 Vo 3 -lo 34
‘15—1 .. [JJ-I g+ 1 LN B

X777 .
| e 1 ———— £ | ' "I —ll Q
17274775 17379270 | ex * R
Yy il S R ( oy F R J

/1% 2 ) i 5
/ ’K?l'l‘{f}(ﬂ—ly)( -jQ = (/k*‘)(/xaw_li) % 3% IOX+91-' z (’k &)(fk -y - ‘l}

J | _: (%H)(Mé_)_(%?), | L “(x- :z)(qf —q_)_h"f?g

|

|

'k?&ha—éy-fg = (1,\-\')(%14, Aoy - g)
(D) (244 - 2

)
3) Factor by grouping: _
a)x>+x*2-9x—9 b) 2x3 — x%2 — 72x + 36
= (1P (-9x-]) 2 (- e (At 36)
2 9 (x41) -9 (4 = & (2 -() -36 (ax )
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4) Determine a value of k so that x+2 is a factor of x3 — 2kx? + 6x — 4.

F(-2) = (—&)2—1(kX‘1)2+é(—;) - Y

o= -¢-%K -12-Y
Oz -24-9K

24 = <K

K=-2

5) Find possible factors of the following polynomials using integral zero theorem. Then, factor the polynomial.

a)3x3 +x2 —22x — 24
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6) Factor each polynomial

a)2x3+5x2—x—6 b)4x3—7x—3
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ANSWER KEY

1)a) No b) Yes c) Yes

2)a) (x — 2)(x + D)(x+4) b) (x—3)(x+1)(x +6) ¢) (x—4)(x —2)(x +3)

3)a) (x — 3)(x + D)(x+3) b) (x—6)(x+6)(2x — 1)

4) k=-3

5)a) (x — 3)(x +2)(3x+4) b) (x—3)(x—1DRx—1) ¢)(x—3)2x—1)Bx+5) d) (x—1)(x+1)(4x+3)

6)a) (x — Dx+2)2x+3) b)y(x+1D2x-3)2x+1) c)(x—Hx—-D(x+2)(x+3)





